3. BI(T) - X=FHmETE
(CERk214E4H 1 B HI/E HA7:ha)

i (T) « K5 [T mr (T) « K5 [T BT (T) « K% o AE
x T 90.7 | XF&-HBE 910 | dt R 175
1 T H 49.0 1 T H 7.8
2 T H 26.4 | H # Bt 21.9 2 T H 9.7
3T H 15.3 1 T H 5.0
2 T H 8.2 [i7] R 14.6
fh T 22.2 3 T H 8.7 1 T H 6.8
1 T H 9.7 T H 7.8
2 T H 12.5 m #F B 115
1 T H 7.9 K [ 42.7
x i) 52.0 2 T H 3.6 1 T H 5.4
1 T H 11.4 2 T H 5.2
2 T H 11.7 | = 1] 81.5 3T H 10.4
3T H 10.1 1 T H 21.0 4 T H 21.7
4 T H 4.4 2 T H 17.5
5 71T H 14.4 3 T B 20.2 X F E I 53.1
4 T H 6.9
£ T 58.0 5 1T H 159 | BT K 39.2
17T 13.3 1 T H 13.3
2 T H 18.0 | R b/ S 56.6 2 T H 9.2
37T 26.7 1 T H 10.4 3T H 8.7
2 T H 12.5 4 T H 8.0
B #r Er 111.8 3 T H 33.7
1 T H 22.2 XKFEF 43.5
2 T H 33.6 A 74.8
3 T H 9.6 1 H 220 | B =] 108.7
4 T H 38.0 2 H 17.8 1 T H 32.3
5 T H 8.4 3T H 35.0 2 T H 20.6
3T H 27.8
i A 813 |/ B & 165.0 4 T H 28.0
1 T H 6.0 1 T H 13.4
2 T H 13.2 2 T B 23.7 XKFHEBE 18.9
3T H 11.1 3T H 20.9
4 T H 9.5 4 T H 20.5 H = 36.4
5T H 10.5 57T H 13.6 1 T H 11.1
6 T H 17.0 6 T H 11.4 2 T H 25.3
7T H 14.0 7T H 42.4
8 T H 19.1 =S N 209.7
XKFEB 83.0
BEE A 162 | KFETHEXK 139.6
XKFEFRBERW 39.2 1 T H 16.2
X F H 57.4
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